H & 0l & AHS B Ml A

20BEHE E0A 2BHSIH| Dl

S DlHEED
Xz T|BtSHA A2k 2+5)

=

el AP EE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ol & =F 1t 12,717,974 7,532,240 5,185,734
= 2,478,520
[ 1,378,000
= 394,902
o 5,016,552
CH 3,450,000
ALHE Ag 235 5,848,125 1,3%,330 4,451,795
= 17,800
s 1,378,000
== 35,340
o 966,985
CH 3,450,000
ey AY X 5,848,125 1,386,830 4,461,295
= 17,800
s 1,378,000
s 35,340
s 966,985
CH 3,450,000
¥ Eg 2Y 840,050 758,170 81,880
201 er23| 61,930 72,100 A10,170
01 AtR2t2|HI 49,530 59,700 210,170
CE=] 44,700
OPEEEN 222 U SEME S
2,750,000 65 16,500
OLIRHERHY o2 224)
350,000& * 122 4,200
OFEH 0ot 2(LXZ, HIZ S)
8,000,000 *37H 2= 24,000
os2g+g 4,830
00l U HANMSIRAS HALY
70,0002 x23H *33] 4,830
2 s5=34l 2,400 2,400 0
OFENH ZUE X2
200,000 x 122 2,400
03 A= 10,000 10,000 0
OIS (HYs, 90 HAEY o
28 2% &) 2,500,000& *42] 10,000
202 04l 7,800 7,800
01 2LHoIH 7,800 7,800
OQIPHEZH 2ALH0Y
20,0002 x3& 30 1,800
Ol EAYH 22/0|
50,0003 x38 40! 6,000
203 =4l 4,320 4,320
03 A=A 2= 4,320 4,320




S DINEE
Ha: Ny Az s

&Pl QI EEE M EER=E)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
ONSAIY SR FAIH| 360,0002x 123 4,320
301 LetEEZ 713,000 586,000 127,000
03 A3 B & A 62 (RIYTHA) 210,000 0 210,000
ox3d"sY 300,000 350 23] 210,000
11 HARHIKIE S 3,000 6,000

20,00024%302+53] 3,000
UBIEENE 500,000 310,000
OB ThEHY JISAI NIES
1,000, 0002350 350,000
CEELEEIN 150,000
018l 1,000, 00024265252 26,000
023/ %t 2,000, 0002265 52,000
O35l %t 2,000, 0002 #3657 72,000
308 T&2 11,000 8,000
01 Z&3 11,000 8,000
CRIEE-EE
8,000,0004%14! 8,000
O0IT. B 0l0ICI0 22H T4
3,000,000 %14! 3,000
307 QI2H0I & 42,000 79,950
VIEEVOVSEES 42,000 79,950
OFEUERI
12,000, 00021+14! 12,000
OFESH SEAL S
30,000, 00024 %14! 30,000
B2 29 84,475 88,660
101 21218 41,275 31,760
VBIELEES=T=E 41,275 31,760
OxEN2 BHHHEESIH 3,271
ool 87.680%1%124x2602! 22,797
Oxg2g 87,6802+ 12 +52% 4,560
O R4 87,6802 12102 877
OY=EIH| 200, 000241 %4 +23] 400
o2zt 10,0002 124 1224 1,200
L] 28,634, 00021 %12% 3,437
0zEN2 BJF3 oY 8,004
07123 76,9601 +2% +523] 8,004
201 Yer2eiy| 43,200 23,400
01 AL 22| 15,600 13,800
CEIEIES=TH 16,600
ONSREE 7 300,002 122 3,600
0422 79 00,0002 122 1,200




2A:

Ol & =ft

B KA g As)
el AP EE (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
O 29
150, 0002 x27} A 128 3,600
OSIHY 8% 442
300,000 *20H 2=+ 123 7,200
02 S3=2g4l 27,600 9,600 18,000
OFHEH B S52= € MM 6,000
ot € =ke= 400,000& <123 4,800
Oostes 100,000& * 12 1,200
O==FgolRA 332 & MAl 19,200
oI & =Ee= 1,500,000& «12& 18,000
Oosies 100,000& «12& 1,200
OAlIE23HI7 A 2,400
OFEEZ2t AIZEHIK I
200,000 * 122 2,400
g RS ASAY 1,378,000 540,000 838,000
[ 1,378,000
401 AlZHIZ S 0HbI 1,378,000 540,000 838,000
= 1,378,000
01 Al&H| 1,378,000 540,000 838,000
OB BHE PEAL(HLOIUME =
4) 1,378,000,000& x14] 1,378,000
= 1,378,000
HEEAN Al SEXE A 35,600 0 35,600
= 17,800
=S 5,340
s 12,460
301 22N = 35,600 0 35,600
= 17,800
= 5,340
Ea 12,460
01 Al EE A S (2 RDEXMA) 35,600 0 35,600
OHEEA BHAl SEXE AR
35,600,000 * 14! 35,600
= 17,800
= 5,340
Ea 12,460
A 0GR A SHAONU ZEAIS 3,450,000 0 3,450,000
CH 3,450,000
401 Al HIZ 2018 3,450,000 0 3,450,000
CH 3,450,000
01 A&l 3,450,000 0 3,450,000
OFEH 0oL SHAON ZEA
3,450,000,000& 14] 3,450,000
CH 3,450,000




2A:

Ol & =ft

B KA g As)
el elEEy (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IS 60,000 0 60,000
= 30,000
= 30,000
201 er2 3| 22,000 0 22,000
= 11,000
[Ea 11,000
01 Al 22| 22,000 0 22,000
OHYD MU XA B2 TH(TUEO)
22,000,000 *14! 22,000
== 11,000
[Ea 11,000
401 Al HIZL 01| 38,000 0 38,000
= 19,000
= 19,000
01 Al&H| 38,000 0 38,000
oz FY FAXY 32 TH (M)
38,000,000 * 14 38,000
= 19,000
o 19,000
Olci £&NEf = 311,100 338,100 A27,000
OleHd = ope 311,100 338,100 227,000
312 2 & 0HEH g= 11,100 38,100 27,000
201 Ler=23| 7,800 12,800 25,000
01 At2teltl 7,800 12,800 /5,000
Odgt+=H| 3,600
OUIHEZ ARES eI
300,000& * 122 3,600
o=2g+d 4,200
Os3J)|& FX AR F4+¢
100,000& *21F 23] 4,200
202 048l 3,300 3,300
01 2L AL 3,300 3,300
ODIcHHZ LI
20,0003 38 30! 1,800
OO0l E 2 22|04
50,0002 38 x10& 1,500
LI ZAINE SS0I8 AMLFT(DEEH) 300,000 300,000 0
308 AHXIEMSOIE 300,000 300,000
07 HXHH2LRES 300,000 300,000
OLicHd ==& & A4 2SAY =10
2CHH MI1Dl DEEEANY)
300,000,000 * 14 300,000
LUMAHI 29 2 2 14,100 60,100 246,000
UOLAATHR] o 14,100 60,100 246,000
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Ol & =ft

B3 AUHARICH] ZA U 2
CHel LB EX &4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
BRI LI 14,100 60,100 246,000
201 er23 | 3,600 49,600 246,000
01 AlR 21| 3,600 49,600 46,000
oL+ 3,600
OYLBIMEXIHS AILREY|
300,000& * 128 3,600
202 04| 10,500 10,500
01 =LHOLI 10,500 10,500
OS] =4 2ted 2L 0|
20,0003 38 50 3,000
OLEHMATT] 24 2t 2620iH|
50,0003 x3& 50! 7,500
JENA & 7 1,451,780 1,671,600 A219,820
< 369,562
s 1,092,218
JBFA & HAXA 1,451,780 1,671,600 219,820
= 359,562
= 1,092,218
WA UL X 198,300 263,600 65,300
201 er23| 3,600 10,600 /7,000
01 AtR2t2|HI 3,600 3,600 0
Odgt+=H| 3,600
OJIgXE HRFE MRESH
300,000 * 122 3,600
202 04l 10,000 10,000
01 2LHoIH 10,000 10,000
OJIHXNH HRFA 2O
20,0002 x4 »452 3,600
OJIHXH gRFA 22104
50,0003 x4 32! 6,400
301 EtE NS 57,200 3,000 54,200
11 AALRHIXIR S 3,000 3,000 0
OJ1gel AHAIE, At S X
3,000,000& *14] 3,000
14 IIEt2 83 54,200 0 54,200
OJIgH™ 22X =){H| XI& 54,200
OZM K& 164,000 <25+ 122 49,200
OZMA=UES O K&
1,000,000 x5 *13] 5,000
307 glztol & 27,500 40,000 A12,500
02 LB HAHE L 27,500 40,000 A12,500
OJIgH sd & (2001l
20,000,000& * 10021 20,000
OsAJIY dA=RE=l FIHHl K&
1,500,000 «5I4 7| & 7,500
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B J|9NY ¥ S
Celr JIYSX 2 HXXA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 100,000 200,000 100,000
01 Al&H| 100,000 200,000 100,000
OJILH SOCRIAAS (DIBEAIAE)
100,000,000 *14] 100,000
Jlgel ALK& 15,000 15,000 0
307 @12to| & 15,000 15,000
04 QIZHHAMAIH 2 £ 15,000 15,000
oJlges XS (EoIsual 8)
15,000, 0003 * 14! 15,000
S3HA =2IIBAIE HEAIS (D EALY) 1,233,880 1,393,000 159,120
== 359,562
= 874,318
401 Al HIZ 2018 1,233,880 1,393,000 159,120
= 369,562
[Ea 874,318
01 AlZH| 1,233,880 1,393,000 159,120
OHlss&HAl Xot2d e & 242 &X
278,240,0003 14! 278,240
s 83,310
s 194,930
OstZ2=3HAl XG2S WA
30,060,000 * 14| 30,060
= 9,018
= 21,042
Ostd =3I =222 WH A
261,270,000 *14] 261,270
s 78,381
s 182,889
O3td=ssHA =43 2Ard
80,000,000 * 14 80,000
= 24,000
= 56,000
Ostd=sEHA SSHMCIAIE HEA
348,000,000 x 14 348,000
s 93,960
s 254,040
O2=2s3HAl A8 SEMY
217,680,000 x14] 217,680
= 65,304
= 152,376
O2=2=s3HX Kot2E ALY
18,630,000 * 14 18,630
s 5,589
s 13,041
AHET] SAE FEusSHl XN 4,600 0 4,600




2A:

Ol & =ft

B J|9NY ¥ S
Celr JIYSX 2 HXXA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 4,600 4,600
11 SIS0t oA AS A 4,600 4,600
OXHH S0 FHWSH X2
4,600,000 *14] 4,600
g=sd 20,000 20,000 0
Jg=sd XNEAE 20,000 20,000 0
KAT & EE XA 20,000 20,000 0
308 XtXIEMSO0IE 20,000 20,000 0
11 SIS0t oA A A 20,000 20,000 0
OS2I NATHA XA
20,000,000& x 14 20,000
S22 3,939,609 3,003,950 935,659
= 2,460,720
T 1,478,889
H+S2Held 2l 3,939,609 1,291,950 2,647,659
= 2,460,720
= 1,478,889
SSHA SSH=X2AIE 2el 219,189 117,950 101,239
201 Ler23| 107,000 107,000 0
01 At2teltl 48,000 48,000 0
Odgt+=H| 48,000
OMSEIHAAQT(BID) S OHES =
2B =2 2,000,000& 123 24,000
OdHSsd +22M ==
2,000,000& 123 24,000
2 5234l 59,000 59,000 0
OAEEBIS X 59,000
OssHIH+3LXNE =AE=+
6,000,000 *37H 2= 18,000
OdttssHAMS=2 g 2l
41,000,000& *14] 41,000
401 Al HIZL 01| 112,189 10,950 101,239
01 Al&HI 112,189 10,950 101,239
OFUs=EH A SSHXMCIAE TICE XA
& 89,600,000 x 14 89,600
OFUMsSHI SSHXMelANE 2F 1=
&t 22,588,500 * 14| 22,589
JUsSHA H-SZHCAE SEAY 2,029,700 293,000 1,736,700
= 1,304,000
s 725,700
401 Al HIZL 201 2,029,700 293,000 1,736,700
= 1,304,000
= 725,700
01 Al&H| 2,029,700 293,000 1,736,700




SA: DIHEE
M sAPEBL
Chel HAZUHIE 22 (cho):
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O H+-S2LXcANE S48 &
OHE AR (RIQIXL) 725,700,000 x 14 725,700
OFLsEEHA H-S2XcANE S48 &
IHEEAE (ZH]) 1,304,000,000& *14] 1,304,000
= 1,304,000
X230 SSHXCAE SEAY 1,685,000 781,000 904,000
= 1,151,000
o 534,000
401 Al HIZ S OHYI 1,685,000 781,000 904,000
= 1,151,000
s 534,000
01 Al&HI 1,685,000 781,000 904,000
2=2s3HN SSHTXCIAE SEAL
(HQIXH) 534,000,000& *14] 534,000
O2=2sEHA SSHXCIAE SEAE
(=Hl) 1,151,000,000& » 14} 1,151,000
= 1,151,000
Sas3HA [ OIoHOI 2 XA 5,720 0 5,720
= 5,720
401 AIEHIZL SR 0HYI 5,720 0 5,720
= 5,720
01 Al&H| 5,720 0 5,720
OZ=EEHXA ZFLIHMHE =R AL
5,720,000 *14] 5,720
= 5,720
SENRX R 83,300 0 83,300
SNz 23S 83,300 0 83,300
SENeAl gs & XNH 83,300 0 83,300
201 et 3| 78,800 0 78,800
01 At22t2l] 78,800 0 78,800
oget=ZH| 61,400
OFFXE ARSI
300,000 * 122 3,600
OugE 2= NH & )83 28
33,000,000 *14] 33,000
OJIUEHE 23| MHIA =2
4,800,0002!13] 4,800
OFI=X =22
20,000,000& » 14 20,000
o=g=+g 3,000
O%de &4 € I2+e
100,0003 6 +53] 3,000
ogxz 14,400
OFNFRINEF dEXY Stz
1,200,000& 122 14,400
— 8 —




SA: Olei™=fnt

g EN=A gRFd
&el: ENRI s (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 4,500 0 4,500
01 2LHoIH 4,500 0 4,500
OF=XE 2204
30,0003 x3& »50! 4,500
ML &S (0lei™ett) 1,000,000 1,000,000 0
WA XIE 1,000,000 1,000,000 0
ENRxl dEJIS d2 1,000,000 1,000,000 0
R I1=sdES 1,000,000 1,000,000 0
UIPIETSE-= 1,000,000 1,000,000 0
OSHRATEIIZ ®E3
1,000,000,000& 1,000,000
HH2LZHI(OlHED) 49,960 42,160 7,800
=&l 49,960 42,160 7,800
JI23Hl 49,960 42,160 7,800
201 2= 34,120 26,680 7,440
01 At2t2lt] 29,520 25,680 3,840
Ogt=3H| 13,200
O2NEg+3Hl 1,100,000& * 12& 13,200
o=l 8,000 x 17 =120 16,320
02 S3=gHl 4,600 1,000 3,600
og=zh| 1,000
Ot K Xd| 200,000 +5E 1,000
OXtgrset] 300,000& * 122 3,600
202 04t 12,240 12,480 A240
01 =LHOHI 12,240 12,480 A240
(@611 60,0002 x17H =122 12,240
203 =4l 3,600 3,000 600
M FA2SHIFII 3,600 3,000 600
ORMEZE =2 300,000+ 122 3,600




